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Annexure -XIV

RJIL/TRAI/2016-17/879
October 18, 2016

To;

Sh. Akhilesh Kumar Trivedi,

Joint Advisor (BB&PA),

Telecom Regulatory Authority of India,
Mahanagar Doorsanchar Bhawan,

Jawahar Lal Nehru Marg, New Delhi 110002

Subject: Information on traffic and congestion on Points of interconnection (POls) with Bharti
Airtel, Idea, Telenor and Vodafone - reg.

Reference: TRAI letter No. 10-6/2016-BB&PA dated 03.10.2016

Dear Sir,

This is with reference to your aforementioned letter subsequent to the meeting held by
Chairman, TRAI on 30.09.2016 asking RJIL to furnish information regarding congestion on the

POIs with Bharti Airtel, Idea, Telenor and Vodafone on daily basis.

Please find enclosed the traffic and congestion data for October 15, 2016 as per the prescribed
format as Annexure.

We submit that in view of the severe congestion and call failures being faced by RJIL subscribers
and the continued denial of sufficient POl augmentation by these operators, your intervention
will be required in order to resolve this matter and to protect the interests of the Indian
customers. We hereby request you to intervene and instruct these operators to augment the
POls as per RJIL firm demand.

This is for your kind information and records please
Thanking You,

Yours Sincerely,
For Reliance Jio Infocomm Limited,

dediad
Kapogr_Singl"\\JGﬁliani [[2

Authorised Signatory

Enclosure: As above

Reliance Jio Infocomm Limited: CIN U72900MH2007PLC234712

Correspondence Address: D-7, Dhawandeep Building, 6, Jantar Mantar Road. New Delhi — 110001, India Tel 011- 43523795 Fax 011-23340453

Registered Office 9" Floor Maker Chambers IV, 222, Nariman Poirt Mumbai - 400021 India Tel 022 - 22785000
WWW jio.com
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